JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 1

JOHN DEERE SN
MOWER

1360-1365 Series
530 Series

PARTS
CATALOGUE




JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 2

STAY. ¥-
FARM SAFE

BALERS & FORAGE WAGONS

WALTERSTHEID «pply

¥ CROSSES g- 3 { YoxEENDSs
ﬁ_‘:l
& WIDE ANGLES , - {. PTOSHAFTS

,s » PROFILES #. » PTO COVERS

JMC Parts
30 YEARS DELIVERING GENUINE PARTS TO YOU

a o g

m B IRELAND'S LARGEST STOCKIST

JOHN DEERE KVERNELAND
Harvester, Mower, Plough &
Baler & Tractor Parts Power Harrow Parts

NEW HOLLAND KUHN
Harvester & Plough &

Tractor Parts Power Harrow Parts
CLAAS KRONE
Harvester, Mower Mower Parts

& Baler Parts

Cabct s f @

UK: 01 244 457849 | www.jmcparts.com TFind 104 WCHMATTIN, RECRASCREENS, ROSSCARRERY, £0. CORX.



‘ JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 3

John Deere Mower i
Contents ‘JMQ\

CONTENTS

Mower Parts 1360 -1365

CUTTERBAR.........oeeeiiiciisins s sss s s s a s s s s e e e e A na R e e e e e a s anm R e e e e e e ammnnnn e s 1
CONDITIONER & HOOD.......ccciiiiiniissssssssssssssssssssssssssssnssssnsssssssnsssssss s s s s n s s s nnnns 2
CANVAS, DRIVE ROLL & IDLER ROLL........cccoctiiiemniiinsnssinsnsssnssss s ssss s s ssss s ssssnnas 3

Mower Parts 530

CUTTERBAR & SKIDS FOR BEDS........ccccocimmininssnisnnnsssssssnsss s ssssss s ssssnnns 4
CANVAS & DRIVE ROLL......ceeeeeeeeeiiiiiiinninn s s sn s s ns s s s s s s s sss s 5
CONDITIONER DRIVE LINE..........ccccoottrrnnnnnnminiiinssnssssnnsssssss s ssssssssssssssssssssssssssses 6
CONDITIONER & HOOD.......cccccmiiiiriiisnnsnnnniiiisssssssssinssssssssss s s sssssssssssssssesssssssssnnnnnnes 7

CATALOGUE INFORMATION

(December 2020 Edition)
This Parts Catalogue is only a Buyers Guide.
No responsibility for any part number inaccuracies will be upheld.

Call our sales team for any enquiries.

DELIVERY: Next Day Ireland ¢ 48 Hour UK PHONE: +353(0)23-8838038 « UK: 01244-457849



‘ JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 4

John Deere Mower 1360-1365 Series
Cutterbar

Key Part No Description 1360 | 1365 Remarks | Qty 1360|Qty 1365
1 CC23366 | Nylock Nut v v M24 x 1.5 5 6
2 CC23367 | Tension Washer v v 35x72x33 5 6
3 DC23368 | Bearing v v 3 4
4 T139560 O-Ring v v 18 20
5 DC23355 | Idler Gear v v 6 10
6 51M7102 [ O-Ring v 48

6a CC23272 | O-Ring v 40

7 DC24969 | Middle Gear v v 3 4

8 CC23271 | O-Ring v v 5 6

9 DC23285 | Bearing v v 4 4
10 CC26778 | Pinion Shaft v v 2 2
11 19M7865 | Screw v v M8 x 16 8 8
12 DC30449 | Cover Big Disc v v 1 1
13 19M7787 | Hex Head Bolt v v M12 x 20 AR AR
14 DC26622 | Disc Kit v v 2 2
15 DC35841 | Weld on Deflector v v AR AR
16 FH304879 | Knife Left Turn v v 4 6
16a | FH304880 | Knife Right Turn v v 4 6
17 CC50001 | Skid Plate v v 3 4
18 DC34130 | Half Moon Outside v v 2 2

18a | DC50000 | Half Moon Inside / Middle v v 4 4
DELIVERY: Next Day Ireland 48 Hour UK Page 1 PHONE: +353(0)23-8838038 « UK: 01244-457849

—®—




‘ JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 5

John Deere Mower 1360-1365 Series

Conditioner & Hood

Key Part No Description 1360 1365 | Remarks | Qty 1360 | Qty 1365

1 DC37918 | Conditioner Hood v v 1 1

2 JD39107 | Bearing Insert v Y 2 2

3 CC33617 | Bearing Flange v v 4 4

4 CC19048 | Pin for Conditioner Tine v AR

4a CC118811 | Pin for Conditioner Tine v AR

5 24M7053 | Washer v AR

6 CC26358 | Conditioner Tine Bushing v v AR AR

7 11M7028 | Split Pin Y AR

8 DC35660 [ Conditioner Bar v v AR AR

9 CC19240 | Wield on Bracket v v AR AR
DELIVERY: Next Day Ireland * 48 Hour UK Page 2 PHONE: +353(0)23-8838038 « UK: 01244-457849




‘ JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 6

John Deere Mower 1360-1365 Series
Canvas, Drive Roll & Idler Roll

Key Part No Description 1360 1365 Remarks Qty

1 AE43824 Roll v 1

14M7327 Lock Nut v 1

19M7868 Screw v M8 x 30 1
2 AT12820 Seal v v 20 x 32 x 07 1
3 JD8890 Needle Bearing v v 1
4 E43529 Ring v v |Spacer outside D/Unit 1
5 AFH205943| Housing v v 1
6 DC33867 Swarther Belt v v Raptor Belt 1
7 CC45638 Rubber Strip on Swather v v Wide 1
8 CC45639 Rubber Strip on Swather v v Narrow 1
9 E64398 Cap (Steel) v v Each end of Idler 2
10 JD9239 Bearing v v 10x45x15.5mm 2
11 E72446 Tube v v 1
12 M40514 Snap Ring Y Y 2
13 E72445 Shaft v v 1
14 CC39267 Holder v v 1

DELIVERY: Next Day Ireland * 48 Hour UK Page 3 PHONE: +353(0)23-8838038 * UK: 01244-457849



‘ JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 7

John Deere Mower 530 Series

Cutterbar

Key Part No Description Remarks Qty
1 AE70632 Disk Incl. (2) E97216 1
2 AFH205728 | Bearing Housing w/Bearing (AE71013) 2
3 DC201659 Deflector 1
4 AFH203695 | Gear (AE74057) 1
5 E80225 Snap Ring 76.81 x 1.57mm 1
6 AE74056 Ball Bearing 1
7 AE53905 Tapered Roller Bearing 1
8 AE71036 Hub / Driver 1
9 FH303250 Cap on Cutter Disc 2
10 AFH203434 | Stone Guard 5
11 E94401 Inner Skid (FH312151) 5

DELIVERY: Next Day Ireland ¢ 48 Hour UK

Page 4

PHONE: +353(0)23-8838038 « UK: 01244-457849




‘ JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 8

John Deere Mower 530 Series
Canvas & Drive Roll

S
N
)

fﬁ

Key Part No Description Remarks Qty

1 DC200960 Idler Roller 1

2 AFH201587 Swather Belt 1

3 JD9239 Ball Bearing 19x45x15.5mm 1

4 E64398 Round Retainer / Steel Cap 1

5 40M1862 Snap Ring 1

6 DC203356 Roller 1

7 H75385 Pressed Flanged Housing 2

8 JD33006 Ball Bearing 50x90x??mm 1
DELIVERY: Next Day Ireland 48 Hour UK Page 5 PHONE: +353(0)23-8838038 * UK: 01244-457849




‘ JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 9

John Deere Mower 530 series =N
Conditioner Drive Line JMQ -

Key Part No Description Remarks Qty

1 FH305097 Conditioner V-Belt L=2560mm 1

1a FH10164 Conditioner V-Belt L=2610mm 1

2 CC40487 Extension Spring 1

3 FH302072 Pulley OD=198mm 1

4 AE52356 Idler OD=165mm 1

5 DC71304 Main Gearbox 540rpm 1
DELIVERY: Next Day Ireland 48 Hour UK Page 6 PHONE: +353(0)23-8838038  UK: 01244-457849



‘ JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12:33 Page 10

John Deere Mower 530 Series
Conditioner & Hood

Key Part No Description Remarks Qty
1 CC33617 Bearing Flange 4
2 DC201431 Hood Conditioner 1
3 DC35660 Conditioner Bar 45

3a AFH202911 Conditioner Bar 45
CC118811 Bolt 45
CC26358 Conditioner Bushing 45
A31869 Lock Nut 45

4 CC19240 Weld On Bracket 45

5 DC201429 Conditioner Rotor 1

6 JD9202 Conditioner Bearing (AE50458) 2
DELIVERY: Next Day Ireland ¢ 48 Hour UK Page 7 PHONE: +353(0)23-8838038 * UK: 01244-457849

—®—



JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 %&Page 11

7

GRAMMER
heland's Ouly Disribuon o Gramaen Seats

JMC Parts sell a range of Grammer Seats and
Seat Parts. These seats have suspensions
designed to reduce the risk of back and neck
injury by removing harmful vehicle vibrations.
Grammer set new standards of sitting comfort
and operating convenience.

Grammer seats can be fitted into all
leading bands of tractors

MAXIMO _—

PROFESSIONAL .= DYNAMIC
—~ f‘

-]
-

L”ii ?

e

r v Auto Weight Adjustment
v Auto Weight Adjustment v Turntable 20° Swivel

v Turntable 20° Swivel v Lateral Suspension
v Lateral Suspension + Air Lumbar Support

¢ Rir Lumbar Support v/ Dynamic Damping System
v Heating System




JOHN DEERE MOWER. MASTER 2021_JOHN DEERE MOWER 03/02/2021 12;

Page 12

{1 T TR 0200 it



